H £ 0l & AF & S

Al A

FA Aot
Nu: gleg 23 s
9l AT Bol(MLTARISHE ) (cHol:ziel)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
aote=E1 94,491,779 109,748,636 15,256,857
= 41,576,000
== 8,478,500
Al 44,437,279
g2 S =2 26,681,789 28,352,604 A1,670,815
A 2e|(MSAESESINH) 26,681,789 28,352,604 A1,670,815
AlrE=3At 1,048,000 1,109,290 261,290
401 Al HIX S0 1,048,000 1,048,000 0
01 AlZH| 1,048,000 1,048,000 0
mZ 4 SAtHI 1,048,000,000& 1,048,000
7Y 13,227,461 12,669,263 558,198
206 M=l 13,126,461 12,638,263 488,198
01 M= HI 13,126,461 12,638,263 488,198
CIRSEs 13, 126,461,000 13,126,461
301 LEIE NS 1,000 1,000
14 IIEt2 8= 1,000 1,000
mE==AOT 43 1,000,000 1,000
802 grat=JIE 100,000 30,000 70,000
03 JIEtEtE S S 100,000 30,000 70,000
mte-Es 100,000,000 100,000
Agat=C Al IE8=2S 10,705,328 10,700,328 5,000
308 AtXIEMSOIE 10,705,328 0 10,705,328
183 SIS U B 4 HASAIE 10,705,328 0 10,705,328
WXt 2IEAISHI
10,705,328,000& 10,705,328
sr7% 2y 1,701,000 2,490,723 AT789,723
203 HR=H] 1,000 1,000 0
03 A=A 2= 1,000 1,000 0
mESHSAY T4 L 2HA A2
1,000,000 1,000
401 Al HIZ S OHbI 1,700,000 2,489,723 AT89,723
01 A28l 1,700,000 2,483,000 A783,000
ST S2IYAY 1,000,000,000& 1,000,000
mASHA Ald 2 24 A
100,000,000 100,000
mal=AlEAIY ES 600,000,000& 600,000
ot ey 62,521,000 76,456,000 213,935,000
= 41,576,000
= 8,478,500
Al 12,466,500
X301 2 (Gt+=ZAIESESIH) 62,521,000 76,456,000 13,935,000
= 41,576,000
= 8,478,500




FA: Aot
B Sl #E
Cl XMRIIY 2 (ST ARSI (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 12,466,500
SSotE S| 8,465,000 10,466,000 22,001,000
301 EetE2 NS 10,000 10,000 0
11 #AIAHIXIE S 10,000 10,000 0
mSt=XelAlE =8I SXIAS AHIXI&
10,000,000& 10,000
401 AlEHIZ SO 8,455,000 10,456,000 A2,001,000
01 Al&H| 8,446,000 10,446,000 22,000,000
mESot+= Sl 7,846,000
OAl&H| 7,846,000,000& 7,846,000
mZSot=x EH| 22l
600,000,000 600,000
03 Al 20HHI 9,000 10,000 A1,000
mESot5 Jdl 9,000
OAIE=2HHI 9,000,000& 9,000
HHSS ot ZHIAR (2EHH) 19,013,500 2,790,000 16,223,500
= 15,658,000
< 3,355,500
401 AIEHIX R0 19,013,500 2,790,000 16,223,500
= 15,658,000
= 3,355,500
01 AlZ8| 17,858,000 2,529,000 15,329,000
WAMSS Sh=2t1 FHIAL (2EHH)
17,858,000,000& 17,858,000
= 14,758,000
=S 3,100,000
02 Zeltl 1,155,500 260,000 895,500
EHMS S ot=2t1 FHIAL (2EHA)
1,155,500,000& 1,155,500
= 900,000
= 255,500
0= otrHalAlE EXAE 9,197,000 4,440,000 4,757,000
= 7,574,000
= 1,623,000
401 AlEHIZL S0 9,197,000 4,440,000 4,757,000
= 7,574,000
== 1,623,000
01 Al&HI 8,965,000 4,024,000 4,941,000
A0S SSoteXclAE XA
8,965,000,000& 8,965,000
= 7,374,000
== 1,591,000
02 2/l 232,000 415,000 A183,000
mI0ES SSote=xHelAlE EXA 232,000




FA: Aot
B Sl #E
ol MBI 29 (ST ARISHE) GRS
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
ozl 232,000,000 232,000
= 200,000
== 32,000
FE0E S3ol==xclAlE XA 13,196,500 2,632,000 10,564,500
= 9,540,000
= 2,044,500
Al 1,612,000
401 AlEHIZ S 0HbI 13,196,500 2,632,000 10,564,500
= 9,540,000
< 2,044,500
Al 1,612,000
01 Al&H| 12,906,500 2,371,000 10,535,500
WRE0S DBEIEH2IAE AXIAY
12,906,500,000& 12,906,500
= 9,340,000
[ 1,994,500
Al 1,572,000
02 Zeltl 290,000 260,000 30,000
mFEOS S3oteXclAlE EXA
290,000,000 290,000
= 200,000
& 50,000
Al 40,000
08X ol 8 SE2elXY F=0L A 1,551,000 3,209,000 1,658,000
= 456,000
Al 1,005,000
401 AlZHIZ S OHYI 1,551,000 3,209,000 21,658,000
= 456,000
Al 1,095,000
01 AlZHI 674,000 3,150,110 N2,476,110
mOSX 7 ot=E8H SH22IXE &0
ALY 674,000,000 674,000
= 400,000
Al 274,000
02 Zeltl 877,000 47,490 829,510
mOSX P ot==FE S22IXNSE &==0
AR 877,000,000% 877,000
= 56,000
Al 821,000
DH(HS)0IS 2 ML S3ot=HelAld EXIA( 1,764,500 10,844,000 29,079,500
FOA)
= 1,453,000
=S 311,500
401 Al HIZL 201 1,764,500 10,844,000 29,079,500




SN MBS
B Sl #E
Cl XMRIIY 2 (ST ARSI (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,453,000
=S 311,500
01 Al&H| 1,654,500 10,085,000 8,430,500
WOH(HE)0IS o OHA SEHEIAL A
XA 1,654,500,000& 1,654,500
= 1,353,000
< 301,500
02 Zeltl 110,000 758,000 648,000
WDSH(HS)0S © WL SHEHAL &
XA 110,000,000& 110,000
= 100,000
< 10,000
ZR(2B)0I2 ©f 1H2 BJoHERAAIL SRIA( 1,042,000 676,000 366,000
FDA)
= 858,000
< 184,000
401 AIZHIX R0 1,042,000 676,000 366,000
= 858,000
= 184,000
01 AlZ8| 1,042,000 561,000 481,000
EWER(2Z)0IS o A SaREAE o
XIAH (FOA) 1,042,000,000& 1,042,000
= 858,000
= 184,000
KN E B3ct=HelAld EXAY 223,000 143,000 80,000
= 156,000
< 33,500
Al 33,500
401 AlEHIZL SO 223,000 143,000 80,000
= 156,000
== 33,500
Al 33,500
01 Al&HI 143,000 113,000 30,000
WIS SSotXclAlE EXIA
143,000,000 143,000
= 96,000
s 23,500
Al 23,500
02 2l 80,000 30,000 50,000
WXAE SSotXclAlE EXIA
80,000,000 80,000
= 60,000
== 10,000
Al 10,000




SN MBS
B Sl #E
Cl XMRIIY 2 (ST ARSI (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AIEOIS S3ol==x2lAE SEAE 35,000 7,436,000 AT7,401,000
= 29,000
== 6.000
401 AIEHIX S0 35,000 7,436,000 AT7,401,000
= 29,000
= 6,000
01 Al&H 35,000 7,036,000 A7,001,000
WAEDS BREHAHIAL SEAY
35,000,000& 35,000
= 29,000
= 6,000
ASH Gha=2t1 ZHIAIS (2EA) 657,000 512,000 145,000
= 541,000
== 116,000
401 AIZHIZL R0 657,000 512,000 145,000
= 541,000
< 116,000
01 AlZH| 657,000 432,000 225,000
WALSS Gha=2t01 FHIAY (2EHH))
657,000,000 657,000
= 541,000
= 116,000
HEOS S3ot=HelAE EXA 504,000 292,000 212,000
= 415,000
== 89,000
401 AlZHIZ SO 504,000 292,000 212,000
= 415,000
[ 89,000
01 A28l 504,000 292,000 212,000
WHEDS DREEHIAL XA
504,000,000 504,000
= 415,000
= 89,000
SHOIS S3ot==xelAlE XA 802,500 1,850,000 1,047,500
= 661,000
s 141,500
401 AIZHIZ SO 802,500 1,850,000 1,047,500
= 661,000
[ 141,500
01 Al&H| 802,500 1,650,000 847,500
m2AZ0IE SSoteXclAlE 2XIA
802,500,000& 802,500
= 661,000
= 141,500




SN MBS
B Sl #E
Cl XMRIIY 2 (ST ARSI (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
THL ZIoteHelAE XA 529,500 313,000 216,500
= 397,000
== 132,500
401 AIEHIX S0 529,500 313,000 216,500
= 397,000
= 132,500
01 Al&H 529,500 313,000 216,500
ERL0IS o A ZRoILHRIAE &
XIAHS 529,500,000 529,500
= 397,000
= 132,500
E=S0t= S3ol==x2lAlE XA 367,000 143,000 214,000
= 294,000
== 63,000
401 AIZHIZL R0 357,000 143,000 214,000
= 294,000
< 63,000
01 AlZH| 367,000 143,000 214,000
mES0lS SSoteXclAlE EXAY
357,000,000 367,000
= 294,000
= 63,000
S0 SSot=HelAE EXIA 162,000 167,000 /5,000
= 97,000
== 32,500
Al 32,500
401 A2 HIZL R 0HbI 162,000 167,000 /5,000
= 97,000
S 32,500
Al 32,500
01 AlZ2H| 162,000 167,000 A5,000
mE & S3otexlAlE EXAME
162,000,000 162,000
= 97,000
= 32,500
Al 32,500
E - =7 S22 XE Z0SAS 3,441,000 3,336,000 105,000
= 2,409,000
Al 1,032,000
401 AlEHIZL SO 3,441,000 3,336,000 105,000
= 2,409,000
Al 1,032,000
01 Al&H| 1,738,000 3,274,640 1,536,640




SN MBS
B Sl #E
Cl XMRIIY 2 (ST ARSI (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
WEE 22X SEBRINS AS0LAY
1,738,000,000& 1,738,000
= 1,217,000
Al 521,000
02 Zeltl 1,700,000 49,360 1,650,640
WEE EDRND EHBRANS HH LA
1,700,000,000& 1,700,000
= 1,190,000
Al 510,000
03 A2 CHYI 3,000 12,000 29,000
WEE EZEXT SEBANY HL0LAY
3,000,000& 3,000
= 2,000
Al 1,000
SRS L0E SSot=xelAlE XA 982,000 680,000 302,000
= 589,000
= 196,500
Al 196,500
401 AIEHIX 20 982,000 680,000 302,000
= 589,000
= 196,500
Al 196,500
01 Al&H| 833,000 558,000 275,000
WYX - LY SSo=H2UAE SEAMY
833,000,000 833,000
= 500,000
= 166,500
Al 166,500
02 Zeltl 149,000 122,000 27,000
WX - LY SSot=H2UAE SEMS
149,000,000 149,000
= 89,000
= 30,000
Al 30,000
SiSlt= S3ol=XclAle SEAE 432,000 500,000 68,000
= 324,000
= 108,000
401 Al HIZL R 0HbI 432,000 500,000 68,000
= 324,000
= 108,000
01 Al&HI 432,000 500,000 268,000
WS S0t S3ot-XclAlE SEA
432,000,000 432,000
= 324,000
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2A:

T OIHIHI (S-S ARY)
2l OBIHI (Bl SARY ) (BHE E AL S 31 H) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| || moibisl 800,000,000 800,000
OlHIbI (&= AM) 100,000 100,000 0
OlHIb (&= A ) (A= AIL SES) 100,000 100,000 0
OlHIHI (&= ALY) 100,000 100,000 0
801 GdiHI8I 100,000 100,000 0
01 Letoldlbl 100,000 100,000 0
Cl{al]s] 100,000,000 100,000
Hees(a==S83H) 145,000 0 145,000
SIS (&= AY S (M= AIHSE3E) 145,000 0 145,000
grets 145,000 0 145,000
802 grat=JIEt 145,000 0 145,000
01 =2N2ExSeE=s 145,000 0 145,000
mAOIE2A2E] QlZe 2EAY EXS
BHEt 130,000,000 130,000
mAgd=E HWSHA AEANE EX= gt
15,000,000& 15,000
HREs(ot=ZAISE351) 1,923,844 1,950,669 N26,825
SHXE (St AIGSE3H) (Gt=ZAISSE3) 1,923,844 1,950,669 N26,825
KN dels ot 1,923,844 1,950,669 N26,825
311 XL =0lAHare 173,844 200,669 N26,825
05 JIEFXH SO0l KHake 173,844 200,669 N26,825
EAHANSY S3ot-HelAd SEA Xt
23 OIXtatEH2E N Xl 8 &t
173,844,000 173,844
601 Xt s SakE 1,750,000 1,750,000
05 VIEt=UAIE S St 1,750,000 1,750,000
EANSSY SSoteMelAE SEA Xt
U= S (2ENX 8EHAE)
1,750,000,000& 1,750,000
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FA: o2t
Hu: slane
TP DEREIAHRIALSSE (ST A= S| H) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
206 M=l 1,361,189 1,178,728 182,461
01 MHZH| 1,361,189 1,178,728 182,461
moleHeAE 29 W2 PY
1,361, 189,000& 1,361,189
4 HASFEESS 67,375 56,622 10,753
2 =uH22E= 67,375 56,622 10,753
m=CALEE, LAQLAYIIIEERES, 0
288 ALFME 67,375,000& 67,375
307 elztol & 4,3%,612 3,588,000 807,612
05 2IZtAE = 4,395,612 3,588,000 807,612
mot==ciXl A2Ea X S3otxclAld
S FIE=d 4,395,612,000& 4,3%,612
401 A& HIX R0 2,537,000 5,561,040 A\3,024,040
01 AlZH| 2,537,000 5,545,790 A3,008,790
mSH=X2IAIE JHEA
2,537,000,000& 2,537,000
405 KHAHE SH 359,000 127,000 232,000
01 Tt 2SS F=HI 359,000 127,000 232,000
w307 & EES 359,000,000 359,000




